Potencias de 10 (H)

0,638+~ 1072

2,487 + 1072

6,726+ 1072

8,963 =102

5,702+~ 1072

2,382+ 1072

7,122 1072

2,568+~ 1072

8,426+ 1072

8,705+ 102

Calcule los siguientes cocientes.

7,78 + 1072

2,122 +1072

9,486+ 102

8,173=102

0,751 =102

9,852+ 1072

5,106+ 1072

4,359+ 1072

1,653 +1072

9,306+ 1072
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Potencias de 10 (H) Respuestas

0,638 = 1072
63,8
2,487 = 1072
248,7
6,726 <1072
672,6
8,963+ 1072
896,3
5,702+ 1072
570,2
2,382+ 1072
238,2
7,12+1072
712
2,568 = 1072
256,8
8,426 1072
842,6
8,705+ 1072
870,5

Calcule los siguientes cocientes.

7,78 =102
778
2,122+ 102
212,2
9,486+ 1072
948,6
8,173+ 102
817,3
0,751+ 102
75,1
9,852+ 102
985,2
5,106+ 102
510,6
4,359+ 102
435,9
1,653+ 1072
165,3
9,306 102
930,6

MatesLibres.Com




